1 -10x_Jo  =-100

e8I=1G L XE9i=168

0x34= 0 @7l 6x 0p =24

/3 x4=52 WA 7x28= 195

2~ ) =6 = 10620
14x13= J3) B 9=y
7x_j9 =133 70 x3=210
82x40= 3250 Ox B2
1200 060 =72 51 _+10=5r1
6x02=_).0 02 x6=12
6x 9 =54 23x15= 3us
99+ 4 =9 11x36= 39p
-8x8= -6y 45x11 = _4L95

The square root of 132 is between? // g/ /7 6 times 0.8 is L} 3 -

What is the product of 12 and 15? I50

¥3  +10=81r3 What are the factors of 447 i;z,u, 1 e
7 x9=63 QIck™ sefaven cubed is §a4y su
10x0.03= 0.3 ‘Q35 The difference between A and 86 is /0
 3x-L =18

(€E6H Quadruple 48 is /92




ﬂ " What is the remainder when 57 is

- divided by 82 r|
3| Divide 450 by 3.5 |25.51
. What is the remainder when you

“ divide 98 by 92 (0«

Arthur goes to the sweet shop and buys 3

,..». chews at 36p each and 3 Freddos at 24p
= each. How much change would he get

| from £5.00? £3 .20

A crate holds 7 printers. How many crates
|| are needed if an office orders 27?
- Computers [y

; What is the area of the football field if the

A length is 83m and the width 12m? 504 =
A2 | have 750mm of string. | use half. How
== much do | have left in cm? Mb&j ,

SO Cl
' A banana weighs(358grams. | have a box

2+ that can hold 900grams before breaking.

c’jll.

| How many bananas can | putinit? Z

| have £10.00 to spend at the panto. |

51 spend £3.72 on a programme, and £1.87

- on a drink. How much have | got left?f L .4

Total out of 45 =

Chilli Challenge

Name: 7‘?/75’[1/@/45-



